
Math 2366, Quiz #6, Sunpmer 20L4

something, mere computation is not enough. Yor[ must explain you
conclusion clearly. Incorpplete work or justi f icati$n wil l  not receive
specif ical ly asked to round.
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3. How many str ings are there of 4 letters or fewer counting the empty str ing?
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5 . How many positile integers not
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6. What is the minifnum number of a university must

100 are divis ible either 4 or 6?
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least 100 students from the same state?
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7. Show that i f  thede are 30 students in a
in i t ia l .
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* L t o

;i*;t iltub

t#stutu*

i trrr"* 1o'a/t'

2U. ga. %


